


















There are deer and peacocks in a zoo. By counting heads they are 80. 
The number of their legs is 200. How many peacocks are there ?
एक चिच़ियाघर में चिरणऔर मोर िोते िैं। चिर चिनने पर वे 80 िोते िैं।
उनके पैरो ोंकी िोंख्या 200 िोती िै। चकतने मोर िैं?
A.20 B.30
C.50 D.60





Find the missing ONE (?)

(A) 30

(B) 45

(C) 60

(D) 75
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Find the missing ONE (?)

(A) 90

(B) 45

(C) 36

(D) 72
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12 132 144

9 ? 81

7 42 49



Find the missing ONE (?)

? : 63 :: 08 : 26 

(A) 12

(B) 91

(C) 18

(D) 15
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Find the Missing one  (?)

42 : 54 :: 56 : ?

(A) 18

(B) 64

(C) 72

(D) 90



Find the missing ONE (?)

(A) 12

(B) 21

(C) 24

(D) 35
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Find the option which should replace (?)
(A) 21

(B) 24 

(C) 35
(D) 37

8 27 17

4 6 6

14 51 31

11 ? 19



Find the option which should replace (?)

(A) 75  

(B) 95

(C) 65
(D) 85

6 5 4

11 9 7

? 56 33



Find the missing term(?)

11 : 8 :: 15 : ?

(A) 30

(B) 25

(C) 18
(D) 12



Find the missing term(?)

42 : 56 :: 132 : ?

(A) 156

(B) 145

(C) 110
(D) 240



Find the option which should replace (?)

5 : 52 :: 10 : ?

(A) 200

(B) 202 

(C) 196
(D) 169


